


FIXE 

En rotation / axe fixe G : 5B 

En rotation / axe fixe E : 4 

En rotation / axe fixe B : 2 



FIXE 

En rotation / axe fixe G : 5B 

En rotation / axe fixe E : 4 

En rotation / axe fixe B : 2 



FIXE 

En rotation / axe fixe G : 5B 

En rotation / axe fixe E : 4 

En rotation / axe fixe B : 2 



FIXE 

En rotation / axe fixe G : 5B 

En rotation / axe fixe E : 4 

En rotation / axe fixe B : 2 
D’ 



FIXE 

En rotation / axe fixe G : 5B 

En rotation / axe fixe E : 4 

En rotation / axe fixe B : 2 
D’ 



FIXE 

En rotation / axe fixe G : 5B 

En rotation / axe fixe E : 4 

En rotation / axe fixe B : 2 
D’ 

VF4/0 = VF5A/0 = VF5A/5B +VF5B/0 




